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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper C 

Foundation

(Calculator and Non–Calculator)
Foundation  – Section A – calculator

1.
The pictogram shows the number of packets of crisps sold by a shop on each of Monday, Tuesday and Wednesday.
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(a)
Write down the number of packets sold on Tuesday.

……………………………

(1)


16 packets were sold on Thursday.
6 packets were sold on Friday

(b)
Use this information to complete the pictogram.

(2)

(Total 3 marks)
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2.
There are three beads in a bag.
One bead is red, one bead is white and one bead is yellow.


Sarah takes, at random, a bead from the bag.
She looks at its colour and then puts the bead back in the bag.
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(a)
On the probability line,

(i)
mark with the letter R the probability that Sarah takes a red bead.

(ii)
mark with the letter B the probability that Sarah takes a black bead.
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(2)


There are also three beads in a box.
One bead is green, one bead is pink and one bead is blue.
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Without looking, Saskia takes, at random, one bead from the bag and one bead from the box.
One possible outcome for the two beads she takes is (red, green).

(b)
List all the possible outcomes.
One has already been done for you.

(R, G) .........................................................................................................................

..............................................................................................................................................

..............................................................................................................................................

(2)

(Total 4 marks)


3.
Each day, Anthony travels to work.
He can be on time or early or late.


The probability that he will be on time is 0.02
The probability that he will be early is 0.79


Work out the probability that Anthony will be late.

......................................

(Total 2 marks)


4.
There are 10 children in a playgroup.
The table shows information about the ages, in years, of these children.

	Age in years
	Frequency

	2
	3

	3
	5

	4
	2


Work out the mean age of the children.

.................................. years

(Total 3 marks)


5.
Anil counted the number of letters in each of 30 sentences in a newspaper.


Anil showed his results in a stem and leaf diagram.

	0
	8
	8
	9
	
	
	
	
	

	1
	1
	2
	3
	4
	4
	8
	9
	

	2
	0
	3
	5
	5
	7
	7
	8
	

	3
	2
	2
	3
	3
	6
	6
	8
	8

	4
	1
	2
	3
	3
	5
	
	
	


Key 4 1     stands for 41 letters

(a)
Write down the number of sentences with 36 letters.

..............................

(1)

(b)
Work out the range.

..............................

(1)

(c)
Work out the median.

..............................

(1)

(Total 3 marks)


TOTAL FOR SECTION A:  15 MARKS

Foundation – Section B – Non-calculator

1.
Simon did an investigation into the colours of shirts worn by some football teams.
He recorded the colour of the shirts for each team.
There were only five different colours.
Simon then drew a frequency table and a bar chart.
Part of Simon’s frequency table is shown below.

	Colour
	Tally
	Frequency

	Red
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	…………….

	Blue
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	8

	White
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	……………..


(a)
Complete the frequency column in Simon’s frequency table above.

(1)

Part of Simon’s bar chart is shown below.
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(b)
Complete the bar chart for the colours Red and White.

(1)

(c)
Which colour was the mode for the shirts of the football teams in Simon’s investigation?

…………………….

(1)

(Total 3 marks)


2.
The graph shows the number of ice creams sold each day during one week.
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How many more ice creams were sold on Tuesday than on Monday?

…………………….ice creams

(Total 1 mark)


3.
Jalin wrote down the ages, in years, of seven of his relatives.

	45
	38
	43
	43
	39
	40
	39


(a)
Find the median age.

.......................................

(1)

(b)
Work out the range of the ages.

.......................................

(1)

(c)
Work out the mean age.

.......................................

(2)

(Total 4 marks)



4.      Three rock bands played at a music festival.
         The names of the bands were The Rebels, ATC and Wand.


100 teenagers were asked which band they had enjoyed most.
The two-way table gives information about their replies.


Complete the two-way table.

	
	The Rebels
	ATC
	Wand
	Total

	Male
	11
	
	15
	32

	Female
	
	18
	
	

	Total
	33
	
	
	100


(Total 3 marks)


5.
Richard has a box of toy cars.
Each car is red or blue or white.

3 of the cars are red.
4 of the cars are blue.
2 of the cars are white.


Richard takes one car at random from the box.


Write down the probability that Richard will take a blue car.

……………………

(Total 2 marks)


6.      A student wanted to find out how many pizzas adults ate.


He used this question on a questionnaire.


‘How many pizzas have you eaten?’

	
	
	

	A few
	
	A lot


Write down two things that are wrong with this question.

........................................................................................................................................................

........................................................................................................................................................

........................................................................................................................................................

(Total 2 marks)


TOTAL FOR SECTION B:  15 MARKS

Mark Scheme Paper C   

Modular 2544 Unit 2 = Data Handling

Foundation – Section A – Calculator

1 (a)   20

(b)  Thursday  


Friday

2 (a)  

B                                         R
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   (b)  (R, G),   (R, P),   (R, B),   (W, G),   (W, P),   (W, B),    (Y, G),   (Y, P),   (Y, B)

3
0.19

4
2.9

5 (a)   2
    (b)   37
       (c)   27

Mark Scheme Paper C   

Modular 2544 Unit 2 = Data Handling

Foundation – Section B – Non Calculator

1 (a)   12,    5

   (b)
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   (c)   Red

2
150

3 (a)   40
     (b)   7
        (c)   41

4

	
	The Rebels
	ATC
	Wand
	Total

	Male
	(11)
	6
	(15)
	(32)

	Female
	22
	(18)
	28
	68

	Total
	(33)
	24
	43
	(100)


5
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6
There is no time frame … year, month, week, etc.


The options are too vague as ‘a few’ might mean different things to different people.   There                               

                     should be more options such as ‘none’, 1 – 3, 4 – 6 etc
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